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Wishing him a Very Happy 100th Birthday
2018
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Gp Capt Bill Wilkinson recalls.........

In September 1934, 50 young hopefuls amrived at RAF Cranwell, initially known as the 7J
Entry. and formed 2 Classes (7J1 and 7J2) to train as Wireless Operator Mechanics pius
one Class (7J9) to train as Instrument Makers. Subsequently under a revised Entry
Numbering System they were known as the 7M7 Entry (WOMs) and 7J7 Entry (IM).
During their training they gained 1 from an earfier Entry, 2 were discharged, and 1 was
re-classed to a later Entry. This left 48 to Pass Out in July 1937.

Bill Wilkinson advised that:

"We were the last of the small entries before the expansion. Reasonably good at all
sports we were less evidently distinguished in our professional studies, as revealed at
our graduation. No cadetships were awarded and there was only one LAC {(Humphrey
from an earlier entry). The rest of us made AC1 or AC2.

We all hankered after becoming pilots and this meant that we had to qualify to LAC
under our own arrangements after we left Cranwell.

To achieve this we had to sit a paper and then to spend a week at West Drayion
undergoing practical tests and a few of us did this. Unfortunately having qualified as LAC
we became eligible for posting to the Fleet Air Arm, as some of us were to our chagrin.
Although some of us had been recommended for pilot training, the RN would not release
us to return to the RAF and when we did eventually get back during the war we were {oid
to go away because it was easy to get pilots but there was a great shortage of Wireless
Operator Mechanics. So we never fulfilled our ambitions apart from John Vanstone who
later received pilot training under 2 short lived scheme whereby some were selected 10
become Engineer officers.”



Cranwellian Association Records of 7M9

The following photographs were provided by Bill Wilkinson

The 7J, subsequently renamed the 7M7 [ 7J7 (30th) Entry
AR AR s -

Back Row: Lewis, Smith, Brickwood, Vanstone, Wilkinson, Edwards, Davies, Humphrey, Breeze and
Dedds
Front Row: Leddra, Rowbotham, Moreman, Scott. Macdonald, Armstrong (017), Boon, Ridd and Lawes

Class 7J2 - Wireless Operator Mechanics - Became 7TM7B

Back Row: Trelford, Mitchell, Spells, Smitheman, Thompson, Allan, Haire, Armstrong (066), Hunter-
Rowe, and Hill.
Front Row: Cordes, Kennedy, Holliday, May, Booth, Hind, Fazey, Graham, and Bames.
Not on Parade: Knight.

Class 7J9 - Instrument Makers - Became 7J7
Y

D o -

Back Row: Allen:“‘."od, Campbell A, and Campbeli J
Front Row: Cameron, Witson, Chapman, Ware and \Wynne
Not on Parade: Curtis (CT'd) and Richards (FT'd 31st)
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ROYAL AIR FORCE

HXAMINATION FOR THE ENTRY OF AIRCRAFT APPRENTICES
: 5T Juse, 1934

PAPER LMATHEMATICS

Time allowed—Two hours
Read carefuily the instruclions on the frowl page of youy ansiosr ook
EIGHY questions o be answered.  Answers shosdd Be semt iw o ALL gestions in
Fart 1, and lo any FQUR guestions in Part LI, but wot to mere,
Failure fo show smethod and working wiltl invclve loss of marks,

Part 1

Answer ALL guestions in difs Part

1. D
sailed on
Caleulate the ay

t of miles

g & continuous voyage the log of & ship recorded that the nus |
i and 501,

6 successive days were as follows (—498, 515, 510, 483, 51
ge speed of the ship in wile hour,

On the seventk day engine troubla d
average speed for the 7 days was 19:75 o
ont the seventh day ?

50 that by the end of that day hee
r boue. How many miles did sail

2. From the formula—
=7 —
{a) Calculate the value of b when v = 37:5, ¢ = 30.0,
{4 Caleulate the value of ¢ when & = 16:0, v = 260,

7. (m) Us'h:g logarithms, evaluate—
. DY H
1350 % / A
A SE
where D = 0:75; H w 1:25; S = o45; I — 100,
(¥) Using logarithis, solve the equation-—
(2-46)* = 10,

C, ate three aerodromes. A pilot flies in a & } rom A ta C,
tline from € to B, € is distant 100 mi 5 from the divect route

between A and 5, the angle CAB « 40° and the angle CBA o 25°. By how many

;t(nilcsdd;mx the length of the pilot's route exced the length of the diréet route betweent
and B,

(This question is to be solyed by trigonometry, #a¢ by scale deawing,)

9. A rectangular sheet of tin is 90 s long and 14 inches wide. Four equal
squarcs of side # inches are cut out from each comer and the sldes sre then tumed up so
a5 to form an open rectangular box, The following table shiows the volume of the box
(V cubic inches) for different valies of x :—

# (inches) | 1.0 l 2:0 ! 2:5 35 | 40 45

Vi

inches),

5:0 6:5 6:0

=

336 | 520 | 5626 | 563:5 | 528 | 4725
(a) Plot the above values of x harizontally againse ¥ vertically and draw a graph
to show how ¥ varies as # varies from 0 to 7 inches,
Use the following scales i— x: 1 inch represents 1 inch,
¥ i Linch represents 100 cubic incles,

(&) Find from your graph—(i) the greatest volume the box can have 3 (i) the size
nust be cut out z0 that the bex may bave a volume

of the ts which
of 270 cubic inches,

10. [a) Prove that opposite angles of a quadrilatecal inscribed in & clrele are
supplementary

(#) ABCD is a quadrilateral inscribed in a cisele ad the diagonals AC and BD
intersect at right angles, T angle ADC = 108° and the angle AHD = 20°. Find,
by calculation (not by de ng and measusement), the number of degrees in cach angle
ol the trangles BDC and A DB, p

2

two wireless receiving stations on a steaight coast line, B being 5

astof A, A ship at sea sends ouf a distress signal, which, to an obeerver at A,

come from & direction 50° ., of N. and to an observer 2t B apy {0 come

40° W, of N,

7 a disgram to a scale of 1 inch = 1 mile, show the pesition of the

ing the above obeervations to be accurate, [ d, by measure-

arghe line.

{¢) If, however, the above observations ace liable to an orror of 10° either way,
show on your ¢ am the locality within which the ship must lie; and
find by measurement her greatest and lesst pessible distances from the
coast-line,

of A ; C is 60 yards due North of A ; 1) is 10 yards North and 20 yards West of A4,
(2) From the above data caleulate the avea of the field in square yards, !
(&) Two paths AC and BD run diagonally across the field, Prove, by caleulation,
i inteczect at a pottit 22 yards Norch of A, and, assuming this
i you cannot prove il caleulate the areas of the triangles ABD and

4. ABCD is a field with four straight sides, B is 40 yarde North and 30 yards East

Pazr 11
Ansteer any FOUR guestions in this Parl. Al questions carey the same nsmber of marks,

5. Solve the equations—
. % =3

(a) el e =2,
Brix + 20 {y = 6 = (x — 1) (y + 3
X By = 1.
4 x
O &=~

8, {a) P and @ are the poinis of contact of tangents drawn from a point O to a
cirele, whose contre is €. Prove that OF — 00 and that 0C bisects the angle POG,

() Using a point A a5 cegtre draw a circle of radivs 2 inches, Dra two radit A1
and AM 5o that the angle LAM = 80°. State the stess of a geawnetrical construction
jor finding the centre of a circle which shall touch AL, AM, and the amaller arc LAf.
Perform the constraction, deaw the circle, and measue fts radius,

in a comes O of a shed with a
h other. The twa walls interssct in
= he lines 08 and OC, The sand react
wint in OA, and extends aloog the flooc to points @ and R in OB and OC respectiv v,
& exposed surface of the sa 0E A plane toangle POR. | I 0P = 3-5 foet and
t, calculate the distance OR.
¥ Thea ¥
i vertical

1 and the floor in

4]

removed and piled in a coni

cal keap in the middle of the ficor,
+5 feet, Calculate the

wdits of the base of the cone.
22

(‘Take » = ,3) :
7 : .

re box, of internal dimens 4 inches by 4 inches, stands on a
equal spheces, each of diametes 2 inches, ate plced on the bottom
fit each other and the sides of the box closely, A Afth sphere: of
placed symmetrically on top of the others, A

12, An open
rizental table, F
box sa that ¢
ter 3:5 inch

Either by deawing svitable full-size diagrams, ar by
Ight of the centra of the upperost sphere above the Tat

ulation, find the vestical
1 0f the bax,

s amm



E&W School - Entrance Exams - PART 2 Science
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ROYAL AIR FORCE

EXAMINATION FOR THE ENTRY OF AIRCRAFT APPRENTICES

S5tH JUNE, 1934

PAPER IL—SCIENCE

Read carefuily the instructions on the front page of your examination answer-book.

Answers are br be sent in o any FIVE guestions, dul ot more, Answers should be

swsirated by skefches or diagrams whenever these will heip to make Ihe meaning cleay.
Al questions carry the same number of marks., '

Time allowed—14§ hours

:,ir pe::m :l;c mzownl of u force abosd a point, stating clearly how it is measured.

eights of 8, 12, 16 and 20 Ib, are hung at distances of 2, 4, 6 and 8 feet, respecti :
! | cesof 2, 4, set, respectivel

‘I:OT one end ol a uniform horizontal rod suppocted by a vertical string at g::h cn?l,’

the rod is 10 fect tong and weighs 6 Lb,, find the tension in each string, i

e 2. What do you understand by
this resuliant determined ?

A balloon with a vertical Jifting force equal to 1,640 b, weight is )
h ] e e . i I ¢
by a cable, the weight of which may be neglected. Tf the lmn!fon(al lf;r(ce(:!:xr::ce%r?vlix;::
is equal to 500 Ib, weight, find the magnitode and dircetion of the pull in the cable. ;

the resullant of keo forces acting at a point > How is

3. What do v
example ol each,

A bomb weighing 90 [b. is dropped from a stationary airshi i
» yaurship at a height of 1, 5
Determine by foeo methods the ensrgy of the bomb at the momc‘:u it rcag&r:‘thei-o?m{%.

~5 (Take g = 327Teet/second2)

o uadecstand by kinelc energy and potential ehergy 2 Give an

2

4. How would you test the correctness of the freezing and boiling point marks on a
thermometer ?

An accurate Centigrade thesmometer reads 35° when a Fahrenheit thermometer
placed alongside reads 84-8%.  Is the Fahrenheit thermometer correct 7 If not, what
correction must be applied ?

~

5. \What is meant by the tatens Aeat of vaporisation of waler ?

A curcent of dry steam at 100° €. was passed inta 1420 grams of water at 14:5° C,
contained in a copper calocimeter weighing 250 geams.  The teoperature of the wateess.
rase quickly to 35:5°C., and the corrent of steam was cut off. The calodmeter and
water now weighed 1720 grams,  Determine the Latent heat of vaparisation of water,

{Specific heat of copper = 0-1.)

6. A platinum wire is 01335 cm. longer at 70° C. than at 207° C. 1f the coefficient
of linear cxpansion of platinum s 0:00005%, what is the Jength of the wire at 200 C.?
Determine to the nearest millimetre the Jength of the wire at 100° C.

7. State Hayie's Lma,

I1 1,650 cubic cm, of air at a pressure of 1,197 mims, of mercury are further compressed
to & pressuie of 2850 mms. of mercury at constant temperature, what volume will the
air then occupy ? o

If the valve of the containing vessel is now opened to the atmaosphere (pressure,
760 mins, of mercury), find to the nearest cubic cm. what volume of air at atmospheric
pressire will escape, ;

8. State Olm's Law,

What current will he taken from a series battery of & accumulators, each of EMF,
2 volts, connected with resistances of 30 and 60 ohms, (a) in secies and (5) in parallel 7

9, Draw a diagram of the magnetic ficld Frfl(lucc:d by an electric cocrent flowing in a
long cyhndrical coil of wire, Give a rule for detecmining the polarity of the coil.

(The diagram wiest show clewrly the direction of the curremt and of the magnetic fidd.)

10. State fouls's Law fpr the heating eifect of an electric current
Assuming that there is no loss of heat ta the surroundings, find how Jong it will
take to raise the temperature of 12 litres of water from 1687 C. to 30" C. by passing a
current frem the 220-volt mains through a resistance of 121 obms immersed in the water,

11, Haw is bydeegen prepared in the laboratory 2 Give a disgram of the apparatus
you would use foc this purpose.

State the more important properties of this gas and mention any industrial uses
to which it is put.

L

% 3

12, Write down the chemical equation for the action of beat on limestone. How

_ many cwis. of quick-lime are obtainable from 1 ton of pure limestane ? (E"ﬁ'm your

ansiwer in decimals) What weight of pure slaked lime car be prepared from t
of Jime ?

. (Atomic weights : Calciwm = 40, Carbon = 12, Oxygen = 16, Hydrogen =.1.)

is weight

13. Give the chemical equations for the reactions that take place when—
(a) carbon dioxide is passed into lime-water,
(%) common =lt & heated with concentrated sulphuoric acid,
{¢) dilute hydrochloric acid is added to sodium carbonate,
(d) a solution of silver nitrate is added to a solution of calcivm chloride, and
{¢) sal ammoniac is heated with caustic zoda,

14. Compare and contrast animal and plant cespication,
15, Describe with tketches the method ol reproduction of femns.

16: How is a rainbow produced 2 Why is a second bow sometioes observed ?

AN B0 4



E&W School - Entrance Exams - PART 3 General

ROYAL AIR FORQS

N
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EXAMINATION FOR THE ENTRY OF AIRCRAFT APPRENTICES

5ti JUNE, 1933

PAPER IIL-GENERAL PAPiii( (WITH ENGLISH COMPOSITION)

. Read carefully the insiructions on the fronl page

ndidates must altem ; .
E:suws are o be sent 1t fo any FIVE questions, bul nol to more

Time allowed—2} hours

= -~
( s -
PART |
L ESSAY (100 marks) '

1. Write an e:sav on one of the following subjects -—
{a) Electricity in the scrvicc.ol man,

(5) The use and misuse‘ of lcls_m"c.

(¢) Queer ways of making a living,

{d) A camping holiday,

4

Youy éxaminati ook,
of Your examination ansier
Part I, 4o which about ONE HOUR showld be given. [n Parl Il_“,

-~

£ PART 11

GENERAL PAPER (100 marks)

Anssers fo be sent 0 lo ary FIVE guestions in this part, Al questions carry the
samie number of pirks.

2. Write a doscription of either (a) a typical *manor' of the Middle Aged

or {5} Merchant and Craft Gilds in a medieval town.

3. Write briel nates on any four of the fellowing i~ Ship Money | Habeas Corpus ;
the Seven Years' War; the Chartists | the Lollards ; the Couct of Star Chamber ;
the trial of Warren Hastings ; the Chasge of the Light Brigade,

4. Write an account of the career of one of the folloving .—Cardinal Wolsey,
the Duke of Marltorough, Loed Clive, Lotd Nelson, the Duke of Montrose,

5. Describe the physical featuces of edher South Afcica or Canada, and give a bejef
‘account of the climatic conditions and economic resotrces of the Tegion you select.

Ilustrate your answer with a sketeh map,

6. Explain the importance and describe and account for the pasition of any
Jowr of the foliowing tow Valparaiso, Rangeon, New Orleans, Teheran, Simis,
Aden, Murseilles, Freetown, Singapore

Trace the route of a sea-tog which would call atany Jveof them,

(Nete.~These nood nol anclude the four zelected for the first pact of the answer,
but thew should be mentioned in the correct order |

7. Draw diparams 10 explain the difforence betwosn an eclipse of the sun and an
eclipse of the oo,

Say why it is impessible for the two events to oocur a week apart,

& Select four of the following, name the baok {with author) in which they appear,

and thea describe an advencure of any ome of thems .-

Jim Hawkins, Ulysses, Falstafi, Gerard, Hereward the Wake, D'Artagnan,
Don Quinete, Kim, The Artful Dodger, Mosez Primrose, Cedric the Saxon,
Inigo Jollifant.

3

« 9. Read carefully the following poem and then ex

‘ : peess its meaning in yourown
words,  Explain also the meaning of the words in italics.

Foue Seasons fill the measure of the year ;
There are four seasons in the mind of man -

He bas his lusty Spring, when fancy clear
Takes in all beauty with an CASY span |

He has his Summer, when I xurionsly
Speing's honey'd cud of youthful thought he loves

To ruminale, and by such dreaming high
Is nearest unto Neaven : quict coves

His soul has in its Autumn, when his wings
He furleth close ; contented 5o to Jook

On mists in idleness—to let fair things
Pass by unheeded as a threshold brook.

He has his Winter too of pale misfeature,

Or else be would forega his morfal watuse.

1. How can you account for the fact that a painting by a famous artist of an old
thatched cottage may be worth (2,000 while the cottage itsellis woeth only £200 ?

11. What important events have occurred in any fowr'of the following countries
during the past year : ;
France, Austria, Germany, China, Spain, the United States, the Irish
Free State ?

12, Describe briclly the kind of work performed :

W any fonr of the following i

An accountan, a civil engineer, a rural dean, a magistrate, a barrister, an
Inspector of Factories, an uider-writer, a Purzer, a chef, a stockbroker.

13, State what materials and tools vou would use, and deseribe exactly how you
would proceed to make ene of the following —
@) A mouse-trap,
(¢) A picture irame.
{c) A fish dice.

(a8} A piece of apparatus to illustrate the expansion of solids,

1C1324 3,520 43¢
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E&W Staff - Only Remaining Photo




